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feoquft: srmrem sraeTs T g O% =7 w-a F7 ST dega a1 {R v RSt Rt v |
ST, aaeq aft T T 1AW TF 2t 2141 AT 0 |

1. Af fopelt sl o1 ST Qe 01 SISt 55 fie W g3 &1 31 34 fad 1 e =1t 07 07
FSTeRL 35 e &1 A SwehTel Bl-ut H s |
If a child is born at 01.55 P.M. at afternoon and time of the sunrise is 07 hrs.35
minutes, find the Ishtakala in ghati-palas.
3TAAT/OR
Ffe Ufthe 7T 00-05°-46°-45” =T €1 15-49 T W ol &feh fet 57°-27781 d
TIY HISA Rl I hIfST |
Calculate the true longitude of Mars. If Mars (Panktistha) is 00-05°-46°-45”, Calana
15-49 Plus) and direct Mars’s daily motion is 57°-27”.
2. 9AfE STeeh T ST TeTo P, 9T 09 T 50 U ST 1T 55 7T 50 I 2 Al T 5 07
T ST ST |
Calculate the true longitude of Moon if birth asterism of a native is Mrigshirsh,
Bhayata is 09 ghatis 50 Palas and bhabhoga is 55 ghatis 50 palas.
AAAT/OR
TREIT T-|TEH T TeRfcdd SATEXT § T HIfST |

Explain the finding of Nirayana Lagna (Ascendant) by conceiving your own

example.



10 3T 2024 T ST e HINT, 10 IS 1 T1@: 05-30 91 €98 G 2-11-24°-
17°-59”.
Calculate the Ayanamsa of 10™ April 2024, the Sun’s longitude on 10™ April at 05:30
A.M. is 11-24°-17°-59”.

3TAAT/OR
Thied IATEX0T ¥ THTI0T GRTH - |Te i T8 I |
Explain the finding of Nirayana Dashama-Lagna by conceiving your own example.
. TR JaTENT G ST et 0T ohi T Hifr |
Explain the making of Navansh-Kundali by conceiving your own example.

TAFT/OR

7§ I=d-ATa T Rl Fueel! gRT foredR & SHesy |
Explain Ug I=a-A1= foramr by Horoscope in detail.
. S fiies S dTcshifeten B3t § 3T T GHFAd 8, Tehicud 3STELT ST Yoa eI =ish ohl T4
i |
What do you understand by g fiieh and dTcehiiores 831 Elucidate “Usaremisfi=ish’ with
your own example.

TAFT/OR
afe T 05-23-257-27" 8 T 02-22-50°-58” B A1 HETIETEHE T8 T |
If ascendant is 05-23-25"-27”, the tenth ascendant is 02-22-50°-58” then explain the
“Sasandhidwadasabhava”.
. Ty - g RT3 farfer 3eTeeT S ¥ ShifT |
Explain the method of calculating ‘Vimshottari-Dasha’ by conceiving your own
example.

TAFT/OR
Thicdd SaTEL0T GIRT STT- 3 fenter &t farfer e hif |

Explain the method of calculating ‘ Ashtottari-Dasha’ with your own example.
. Trefafiaa o & el o o fevaoft faaRae, fomm @ oo wespa 9 a1 |
Write short notes on any four of the following one being in sanskrit:
i, e g (Yogini Dasha)
i, wERE an (Musrif Yog)
fii. oIS AT (Itthshaal Yog)
iv. YR (Mudda Dasha)
v.  Hm (Muntha)
vi. U (Panchesh Vichar)
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